R —F R 2022 LXHRFEMFTSEERSHEN

1.
B oA ={xx"~4x< 0} B={x€Z|-2<x<2} QANB= ()
A {012} g {12} ¢ {101} p {1012}

2

CAEHEHRZE D =2+4, mz= ()
A. 1_iB. 1_2iC. 1+iD. 1+ 2i

3

SNy Ep, Yx€(0m) ) tanx>sinx, grafg, 3x>0, x> 2% M%) A E AR 2 ()
A PAGB VY c.pV(~g) D (=p)Ag

4,
3
EAAOLIa%E R (23, A0 mLRIR Ehiek ¢ EE R FL, jtanf =

1 1
A 5B.5C.5D. 5

5.
EapgEe=(B-1, bl =5 garesh), gla+p (e<3b) = ()
A. 15 B. 19 C. —15 D. —19

6.
E%ua=(log23)n'3, b={10gs2)"" | ¢ = 03" o)
A.c«:a«:bB‘b«:C{a

C.c::b{aD.a{c:::b

7.
WK, WK EDESZRRGKANL, LSRR =0E, WL AR AR E
T

)

_

WS

52n 68T
AT 2 g 372 20n-12y 28n-24

x2-2x-3

gy’ O T mkmmas



